BHBMEX

lsU My

o

= (Bit/BiES)

=
THE | &3l B R g L2174 N g |10-10-5-6]10-10-5-6 [ 10-10-5-6  10-10-5-6 | 10-10-5-6|| 10-10-5-2-1/| 10-10-5-2-1[ 10-10-5-2-1'
= i No.1~No.5| No.5~No.4| No.4~No.3| No.3~No.2 | No.2~No.1 No.1~No.3| No.3~No.2| No.2~No.1
E=sL
(E#200mm) BIER m 424 59 12.0 8.5 25 16.0 20.0 80 50 400 35.0
ERLT _
1NV DR HEE
B ERAEA BH0.28m3 m3 565 51 11.0 78 23 134 16.7 77 5.0 403 322
_ BAERA
BRIER BH0.28m3 m3 95| 9 1.9 13 0.3 26 3.2 13 0.7 65 5.7
_ mAL
BRIER BH0.28m3 m3 375) 30 6.8 48 14 78 9.7 49 33 26.0 19.8
FET0E ME m3 212 23 47 33 1.0 6.2 78 32 20 15.8 137
INRE N DR HEEI
ERRIEH BHO0.13m3 m3 -
_ BAERA
ERIER BHO0.13m3 m3 -
_ AL
ERIER BHO0.13m3 m3 -
RELNE 2tE m3 -
INRE XN DR HEEI
ERRIEH BH0.08m3 m3 -
_ BAERA
ERIER BH0.08m3 m3 -
_ AL
ERIER BH0.08m3 m3 -
RELNE 2tE m3 -
EHmEL
7 HREEEEE LS |PRP ¢ 200 m 413 56 1.3 8.0 20 155 195 78 42 39.5 345
[ZEs]
Al ESHF PRP ¢ 200/ BT 11 1 1.0 0.0 0.0 0.0 0.0 1 1.0 0.0 0.0
o MFE ETKER
1REAZH T — 150mm X 50m  2{% m 413 56 13 8.0 20 155 195 78 42 395 345
EERT
HEHR I T(BH0.28m3)
BRERT t=10cm BARA m3 37 3 0.7 05 0.1 0.9 1.2 5 0.3 24 2.1
MR T(BH0.13m3)
BRERT t=10cm B4HE#AH m3
HEHR I T(BH0.08m3)
BRERT t=10cm B4HE#H m3




HMEX HFEIT HEERI

B} =2 (BH/BRESE)
T | &5 B R B v g [10710-5-3-1/10-10-5-31/10-10-6-3-110-10-6=3~1| = oy [10-10-5-4-1|10-10-5-4-110-10-5-4-1|10-10-5-4-1
i No.1~No.4 | No.4~No.3| No.3~No.2| No.2~No.1 i 4-1~4-1-4|4-1-4~4-1-3| 4-1-3~4-1-2[ 4-1-2~4-1-1
E=sL
(B 1%200mm) BIER m 108 6.0 420 420 18.0 82 32.9 12.0 145 22.7
ERLTT
1NV DR HEE
B ERARA BH0.28m3 m3 163 11.7 68.8 64.4 18.1 155 64.3 222 26.8 420
_ BAERA
BRIER BH0.28m3 m3 28 1.4 1.8 11.8 28 23 9.2 33 40 6.4
_ mAL
BRIER BH0.28m3 m3 108 85 463 419 11.7 111 46.6 15.8 19.0 29.8
FE TN ME m3 61 36 25.0 25.0 71 49 196 7.1 86 135
INRE N DR HEEI
ERRIEH BHO0.13m3 m3 - -
_ BAERA
ERIER BHO.13m3 m3 - -
_ mAL
ERIER BHO.13m3 m3 - -
RELNE 2tE m3 - -
INRE XN DR HEEI
ERRIEH BH0.08m3 m3 - -
_ BAERA
ERIER BH0.08m3 m3 - -
_ mAL
ERIER BH0.08m3 m3 - -
RELNE 2tE m3 - -
EMHRT
V7 HEEEIEE L |PRP ¢ 200 m 104 50 411 4.1 17.1 80 32.1 115 13.9 22.2
[ZEs]
aESHMF PRP ¢ 200/ [El3il 8 2 2 2 2 1 1
o MFE ETKER
1REAZ T — 150mm X 50m 2{% m 104 50 41.1 411 171 80 32.1 12.0 139 22.2
EERT ~
HEHRE T (BH0.28m3)
BaRERET t=10cm BARA m3 10 05 43 43 1.0 10 34 33 15 23
MR T(BH0.13m3)
BRERT t=10cm BERA m3
HEHR I T(BH0.08m3)
BRERT t=10cm BERA m3




HMEX HFEIT HEERI

B E (BH/BREE)
TH | FE5 # B R g Bzl s 10-9-6 10-9-6
i No.1~No.2| No.2~No.1
E=sL
(&#%200mm) BIER m 95 50.0 450
ERLTT
1NV DR HEE
B ERAEA BH0.28m3 m3 118 76.7 414
_ BERA
BRIER BH0.28m3 m3 22 143 7.4
B FAL
BRIER BH0.28m3 m3 75 49.9 255
FET0E AHE m3 47 29.7 17.7
INBE Ny DR YEH
ERRIEH BHO0.13m3 m3 -
BERA
BRIER BHO0.13m3 m3 -
B FAL
ERIER BHO0.13m3 m3 -
RELNE 2tE m3 -
INBE Ny DR HEHI
ERRIEH BH0.08m3 m3 -
_ BERA
ERIER BH0.08m3 m3 -
_ RAL
ERIER BH0.08m3 m3 -
FETnE 2tE m3 -
EMHET
V7 BRI L E %R*qu 200 m 94 495 445
AIESHEF PRP ¢ 200F8 [E13) 0
o #MH LT/KEHR
BT —T 150mm X 50m 2{% m 94 495 445
EERT
HEHRE T (BH0.28m3)
BRERT t=10cm BARA m3 8 5.2 27
MR T(BH0.13m3)
BRERT t=10cm B4HE#H m3
HEHR I T(BH0.08m3)
BaERET t=10cm BABA m3




HMEEX HFEIT &R

T | &5 B b Bif & 3 I 10-10-5-6 | 10-10-5-6  10-10-5-6 | 10-10-5-6 [ 10-10-5-6| =~ o, [10-10-5-2-1"/10-10-5-2-1'[ 10-10-5-2-1'
No.1~No.5 | No.5~No.4| No.4~No.3| No.3~No.2 | No.2~No.1 No.1~No.3| No.3~No.2| No.2~No.1
EBRTBT

TILSERL R

TIVERIREAT H=2.0m m 183 0 0

FILERIREAT H=2.5m m 39" 0 0

FILSRIREIIRT H=2.0m m 133" 0 0

TIVERRSIRT H=2.5m m 39) 0 0

TBXRI BEERE 1K m 222) 0 0

TBXRI BETRE 2B m 0 0 0

BEHRRLE

BSMAWEAT  |H=20m m - - -

BEMAWEATL  |H=25m m - - -

BE2MAMEIET |H=2.0m m - - -

BEE2MAMEIRT  |H=25m m - - -

TBXRI BEERE 1K m - - -

TBXRI BEERE 2K m - - -

GAHESLTE

BAT m - - _

511k T m - - _




HMEE

FHIT  S&ERI

T | &5 B R g B v g [10710-5-3-1/10-10-5-31110-10-6-3-110-10-6=3~1| = oy [10-10-5-4-1|10-10-5-4-110-10-5-4-1|10-10-5-4-1
No.1~No.4 | No.4~No.3| No.3~No.2 | No.2~No.1 4-1~4-1-4|4-1-4~4-1-34-1-3~4-1-2| 4-1-2~4-1-1
ERTBT
TIERRLE
TIVERIREAT H=2.0m m 84 420 420 49 120 145 227
TIVERIREAT H=2.5m m 6 6.0 33 329
TIVERRSIRT H=2.0m m 84 420 420 49 120 145 227
TIVERRSIRT H=2.5m m 6 6.0 33 329
ITEBXRT BEERE 1K m 90 6.0 420 420 82 329 120 145 227
ITEBXRT BEERE 2K m 0 0
EEHXRLIE - -
BEHAIREAL  [H=20m m - -
BEHAREAL  [H=25m m - -
EEWMAMRSIET  |H=2.0m m - -
BEHXRSIIRT  [H=25m m - -
ITEBXRT BEERE 1K m - -
ITEBXRT BEERE 2K m - -
FTAHEZLE _
BAT m - _
5likT m - -




HMEX AT HEERI

I | &5l B R B I 10-9-6 10-9-6
No.1~No.2 [ No.2~No.1
EBRTBT

TILSERLR

FILERREAT H=2.0m m 50 50.0
TIVERIREAT H=2.5m m 0

FILERMREIRT H=2.0m m 50 50.0
TIVERRSIRT H=2.5m m 0

TBXRI BEERE 1K m 50 50.0
TBXRI BEERE 2K m 0

BEEMXRtE -

BEEMAREAT  |H=2.0m m -

BEMAREAT  |H=25m m -

BEEMAR5IIRT |H=2.0m m -

BEEMAR5IIRT |H=25m m -

TEXRT BEESRE 1B m -

TEXRT BESRE 28 m -

GAHESTE -

BAT m _

5liRT m _




BHBMEX

FEIT  SEEHRI

¥ = (Gi/BiRE)
I | &3 # B b Bifiy a3 g g [10710-5-3-1[10-10-5-3-1]10-10-5-3-1/10-10-5-3-1
10-10-5-3-1-4| 10-10-5-3-1-3] 10-10-5-3-1-2| 10-10-5-3-1-1
TUR—ILT
I R—ILT
18w R—IL -
ZRED
= T-25 #H - - 0 0 0 0
ZRED
" T-14 8 4 4 1 1 1 1
HEEE 25mm & 2 2 1 1

" 45mm & 2) 2 1 1
YD H=50 & 1 1 0 1 0 0
" H=100 & 3 3 1 0 1 1
" H=150 &l - - 0 0 0 0
R H=300 & - - 0 0 0 0
" H=450 & 1 1 0 0 1 0
" H=600 & 3 3 1 1 0 1
EE H=300 & - - 0 0 0 0
" H=600 & - - 0 0 0 0
" H=900 &l - - 0 0 0 0
BT EE H=600 & 1 1 0 0 0 1
" H=900 & 2 2 0 1 1 0
" H=1200 & 1 1 1 0 0 0
" H=1500 &l - - 0 0 0 0
" H=1800 & - - 0 0 0 0
JERR H=130 & 4 4 1 1 1 1
KERT &0z 4|| 4 1 1 1 1
JnyofEFT 3mELTF & 4 4 1 1 1 1

" 3miE~4mLLT & - -

" AmiB~5mLLT & - -




HMEEX HFEIT &R

% B EH/BES)
I | &5l B R g 204 v 5 | 10710-5-6[10-10-5-6 | 10-10-5-6| 10-10-5-6 [ 10-10-5-6f ==, [10-10-6-2-1'|10-10-5-2-1'10-10-5-2-1"
= " | 10-10-5-6-5| 10-10-5-6-4| 10-10-5-6-3| 10-10-5-6-2| 10-10-5-6-1 " |10-10-5-1-3| 10-10-5-1-2 10-10-5-1-1
INETUR—ILT
ML R—)L(RESR)
o
A2 13—b  $200-¢300[2m KT &l 3 0 1 1
" g ST &l 4 2 1 1 1 1
" BHE 15° &l 4 1 1
" B 30° & 0 0 0
" BRE 45° & 0 0
" B 60° & 0 0
" BHE 75° &l 2 2 1 1 0
" B 90° & 1 1 1 0
" A 45° & 0 0
" & 90° & 0 0
" %% DR &l 0 0
" FE BE & 0 0
" FE 90 HE & 0 0
" 2)—AuN—b H= m 0 0
" 7Y=4on"-t & 0 0
. ¢ 300
REEHE T-25 ] 0 0
¢ 300
" T-14 & 14 5 1 1 1 1 1 3 1 1 1
) BIEE=Z LR
INIRUR—)LERET  |[R2mUT EFT 14 5 1 1 1 1 1 3 1 1 1
BIEE=LE _
" R35mMLLT BT 0 0 0
EHRET HIRRES & 14 5 1 1 1 1 1 3 1 1 1




HMEX HFEIT HEERI

B E (BH/BREE)
I%E | fE5 # B b B N 10-9-6 10-9-6 A =y |10-10-5-4-1]10-10-5-4-1]10-10-5-4-1] 10-10-5-4-1
; 10-9-6-1 [ 10-9-6-2 | = ° 5-4-1-4 | 5-4-1-3 | 5-4-1-2 | 5-4-1-1
INTUR—)LT
INRITZ L R—)L (IREH)
M
A2 /18—b ¢ 200- ¢ 300[#m KT & 1 1 1 1
" fifE ST & 1 1 0
" BHE 15° & 0 3 1 1 1
" B 30° & 0 0
" BRE 45° & 0 0
" BE 60° & 0 0
" BE 75° & 0 0
" B 90° & 0 0
" ai 45° & 0 0
" & 90° & 0 0
" &% DR & 0 0
" BE BEE @& 0 0
" EE 90° HE @& 0 0
" 2)—AunN—b H= m 0 0
" 2)=Aon—b & 0 0
i $300
REHE T-25 @& 0 0
¢ 300
" T-14 & 2 1 1 4 1 1 1 1
) BIEE=Z LR
INIRUR—)LERET  |[R2mUT EFT 2 1 1 4 1 1 1 1
BlEE= LS
" RISMLUT [El3il 0 0
EHREL SHIXBILES @ 2 1 1 4 1 1 1 1




_ BMEE RAEIT SEHX
B E (BIH/BRES)
THE | &3l B R g =274 I 10-10-5-6 | 10-10-5-3-1 10-10-5-2-1'[ 40-10-5-4~1[ 10-10-5-4-1
= 8T h0-10-5-5-110-10-5-3-1]| 10-10-5-2-1| 10-10-5-4-1-6| 5-4—1—4
BElET 6150
M
[EA= VU ¢ 150 m 11 2.3 2.7 3.3 0 2.1
xE 2 & FH90° & 5 1 1 1 1 1.0
HE 90° 1@ 5 1 1 1 1 1.0
Hno— WTB & 5 1 1 1 1 10
XEEE
ERIAVIN ATULAE 1@ 15 3 3 4 2 3.0
BlERMA T _
" BRE 1.0mEkiE [El3il -
" EEZE 1.0mLlE15mEKH &R 1 1
" EBEZE 25mLl E3.0mKiH &R -
" EEZE 3.0mLl E35mKiH &R 1 1
" B2 35mLlE4.0mEkiH Sl 2 1 1
" B Z4.0mLl E4.5mK i &R 1 1




BHBMEX

HEIT %

HED

B E (BIH/BRES)
T | &5 B R Byl L - I E 10-10-5-6 | 10-10-5-6 | 10~10-5-6 | 10~10-5-6 | 10~10-5-6 | 10~10-5-6 | 10~10-5-6 | 10~10-5-6
=R i No.1~No.5 [ No.5~No.4 | No.5~No.4 | No.3~No.2| No.2~No.1 | No.2~No.1| No.2~No.1 No.1
RAESIUETT
ERLT
N\ R HEH
B ERAEA BH0.28m3 m3 48 14 24 24 11 0.7 20 23 22 1.2
BERA
ERIER BH0.28m3 m3 8| 3 05 05 0.2 0.2 04 05 04 0.2
mAL
ERIER BH0.28m3 m3 31 8 14 1.4 0.6 04 11 1.3 1.3 0.7
FET0E 4tE m3 13] 5 0.9 09 04 03 08 0.8 0.8 0.4
INBE Ny DR HEH
B ERAEA BHO0.13m3 m3 _ _
BERA
BRIER BHO0.13m3 m3 _ _
AL
BRIER BHO0.13m3 m3 _ _
RELNE 2tE m3 - -
INBY Ny DR YEH
B ERAEA BH0.08m3 m3 _ _
BERA
BRIER BH0.08m3 m3 _ _
AL
BRIER BH0.08m3 m3 _ _
RELNE 2tE m3 - -
FIHREL
M
FHERE ¢ 200
FIE T-25 & - _
FHERE ¢ 200
" T-14 & - -
FHERE ¢ 200
" T-8 & - -
HEE
" ¢ 200 & 23 8 1 1 1 1 1 1 1 1
FIHREL NHFKET [Elzis 23 8 1 1 1 1 1 1 1 1
EHREL SHEXSLFHFES ¢ 200 [Elzin 0 0
B ERET
BTERZRS
FERMMAT RAER 3.0mRKiE [E5l3i0 12 3 1 1 1
BRAER 30mllE50mKE |&ERT 10 5 1 1 1 1 1
RAER 5.0mllE120mEi | &FT 1 0




HMEE

FHIT  S&ERI

B E (BH/BREE)
IfE | &5l # B8 bS] BAf N 10-10-5-3-1[ 10-10-5-3-1 10-10-5-3-1[ 10-10-5-3-1| 10-10-5-3-1] 10-10-5-3-1| 10~10-5-3~1| 10~10-5-3~1| 10~10~5-3-1 10-10-5-3-1 [ 10-10-5-3-1
i No.4~No.3| No.4~No.3 | No.4~No.3| No.4~No.3[ No.4~No.3| No.4~No.3| No.4~No.3| No.3~No.2| No.3~No.2| No.3~No.2| No.3~No.2
RAESIUETT
EBRET ]
1NV DR HEE
B ERARA BH0.28m3 m3 20 1.4 1.3 22 2.3 1.3 2.1 1.4 1.9 23 1.7 1.9
_ BAERA
IR BHO0.28m3 m3 3 0.2 0.2 04 04 0.2 0.3 02 03 04 03 03
mAL
BRIER BH0.28m3 m3 13 0.9 0.9 1.4 15 0.9 1.4 0.9 11 15 11 1.3
FE TN 4tE m3 5 03 0.3 0.6 0.6 03 0.6 0.4 06 0.6 0.4 05
INRE N DR HEEI
ERRIEH BHO0.13m3 m3 -
_ BAERA
ERIER BHO0.13m3 m3 -
_ AL
ERIER BHO0.13m3 m3 -
RELNE 2tE m3 -
INRE XN DR HEEI
ERRIEH BH0.08m3 m3 -
_ BAERA
ERIER BH0.08m3 m3 -
_ mAL
ERIER BH0.08m3 m3 -
RELNE 2tE m3 -
FIHREL
M
FHERE ¢ 200
FIE T-25 ® _
HERE ¢ 200
" T-14 JE] -
HERE ¢ 200
" T-8 & -
HEE
" ¢ 200 & 11 1 1 1 1 1 1 1 1 1 1 1
FIHREL NHFKET [Elzis 11 1 1 1 1 1 1 1 1 1 1 1
EHREL SHEXSLFHFES ¢ 200 [El3il 0
A EMRET
BRETEmE T
XEBRTT BRFER 3.0mEKH [Elzis 7 1 1 1 1 1 1 1
BRGER 30milE50mEKiFE |&EAT 4 1 1 1 1
BHEER 5.0mLl E120mkiE | &FT 0




HMEE

FHIT  S&ERI

B} =2 (BH/BRESE)
T7E | &5l WM e R Bl o [10m105s-tfio-t0safl o o T0-t0-s—atl o [10-10-5-4-1
" |No3~No2| Noil " [No6~No5 " [No5~No4
RAESIUETT
ERLT

Ny R HEHE

B ERARA BH0.28m3 m3 1.3 1.7 55 5 54
BEREA

ERIER BH0.28m3 m3 02 03 06 1 06

mAL
ERIER BH0.28m3 m3 09 1.2 4.1 4 40
FE TN AHE m3 0.3 05 0.9 1 0.9
INEL/ R R R

B ERARA BHO0.13m3 m3 -
BEREA

BRIER BHO0.13m3 m3 -
AL

BRIER BHO0.13m3 m3 -

RELNE 2tE m3 -
INBL/ R R 1R

B ERARA BH0.08m3 m3 -
BEREA

BRIER BH0.08m3 m3 -

mAL

BRIER BH0.08m3 m3 -

RELNE 2tE m3 -

FIHREL
M

FHERE ¢ 200

F9E T-25 @& -
HERE ¢ 200

" T-14 & -
HERE ¢ 200

" T-8 ﬂﬂ -
LEiliEE )

" ¢ 200 & 1 1 1 1 1
FIHREL NEFBKET [El7i 1 1 1 1 1
EHREL SHEX B EE ¢ 200 [Elzin 0

A EMRET
BRETEmE T
XEBRTT RAER 3.0mXkik [Elzin 1 1 0
BRGER 30milE50mEKiFE |&EAT 1 1
BGHER 50milE120mKiE | &ERT 1 0




BHMEX MFEIT KR!

B = (Bi/BREEE)
I | &5l b= A% BGI| - I E 10-10-5-6  10-10-5-6 [ 10-10-5-6 | 10-10-5-6 | 10-10-5-6 ==, |10-10-5-2-1'|10-10-5-2-1'[ 10-10-5-2-1
= i No.1~No.5 [ No.5~No.4 | No.4~No.3[ No.3~No.2 [ No.2~No.1 i No.1~No.3 [ No.3~No.2[ No.2~No.1
HLT
HERETI[XRELR]
TATT IR
EHE MR U B 20cmBL T m 848 118 240 17.0 5.0 320 400 160 10.0 80.0 70.0
19— MRZERR
" 20cmBL T m - -
TATT SRR
AR AEED m2 405 49 10.2 72 2.1 13.3 16.6 69 44 348 29.8
V9 MRZERR
" En m2 - _
TATT SRR
" RN m2 405 49 10.2 72 2.1 133 16.6 69 44 348 29.8
TRIT IR
OBk AEE m3 16] 2 04 0.3 0.1 05 07 3 02 14 1.2
V9%
" AEED m3 - -
TRITIVEER
" R m3 13 1 03 0.2 0.1 04 05 2 0.1 1.0 0.9
MERETI[RMAES] =5
TAI7 I MRZERR
=R U 20cmELF m 124 42 416 0
IV -MEZERR
" 20cmLl T m - -
TRITIVMERZERR
A= R B m2 42 13 135 0
IV -MEZERR
" m2 -
TRAITVMEREERR
" REREER m2 42) 13 135 0
TAI7IVEER
FAE LR m3 2 1 05 0
BV Y
" m3 - 0.0 -
TAI7 ISR
" REREER m3 1 0 0.4 0




L HEd

B = (BH/BREEE)
T7& | &Rl a8 R & Bzl g [10710-5-3-1110-10-5-3-1[10-10-5-3-1110-10-5-3-1] = o 10-9-6 10-9-6
" No.1~No.4| No.4~No.3| No.3~No.2| No.2~No.1 No.1~No.2| No.2~No.1
HLT
HERET[XRELR]
TATT IV RR
EHE MR U B 20cmBL T m 216.0 12,0 84.0 84.0 36.0 190.0 100.0 90.0
19— MRZERR
" 20cmBL T m
TATT SRR
AR AEED m2 1102 6.3 44.1 441 15.7 90.8 525 383
V9 - MRZERR
" BEn m2
TATT SRR
" RN m2 110.2 6.3 441 441 15.7 90.8 525 38.3
TRIT VAR
OBk AEE m3 44 0.3 18 1.8 0.6 36 2.1 15
V9%
" AEE m3
TRITIVEER
" R m3 33 0.2 13 13 05 36 2.1 15
0 0
HMERET[RMAES) £&t
TAI7 W MRZERR
SRR U 20cmELF m 525 525
VY- MEREERR
" 20cmLl T m
TRITIMERZERR
A= R B m2 176 18
IV)Y-MEREERR
" m2
TRAI7VMEREERR
" REREER m2 176 176
TAI7IVEER
FAE LR m3 0.7 07
IV9-bx
" m3 0.0
TAI7 ISR
" e m3 05 05




HMEE

FEIT  SETFR1

B = (BH/BREEE)
T7E | %&hl e R & B g [10710-5-41[10-10-5-4-1110-10-5-4-1|10-10-5-4-1
" 4-1~4-1-4|4-1-4~4-1-3| 4-1-3~4-1-2| 4-1-2~4-1-1
&I
SHEBEI[XREL]
TATT IV RR
EHE MR U B 20cmBL T m 164 65.8 240 29.0 454
19— MRZERR
" 20cmBL T m -
TATT SRR
AR AEED m2 86 345 126 15.2 2338
V9 - MRZERR
" BEn m2 -
TATT SRR
" RN m2 86 345 12.6 15.2 2338
TRIT VAR
OBk AEE m3 3 14 05 06 1.0
V9%
" AEED m3 -
TRITIVEER
" R m3 3 1.0 04 05 07
0 0 0 0
HMERET[RMAES) £&t
TAI7 W MRZERR
SRR U 20cmELF m 30 29.9
IV -MEZERR
" 20cmLl T m -
TRITIMERZERR
A= R B m2 11 10.8
IV -MEZERR
" m2 -
TRAI7VMEREERR
" e ET m2 11 10.8
TAI7IVEER
IE AL m3 0 03
IV9-bx
" m3 -
TAI7 ISR
" e m3 0 03




_ HihEEX BHIIT  £EHFR1
B = (BH/BREE)
T#& | &5 B R L2074 Jn gt | 10710-5-610-10-5-6 | 10-10-5-6| 10-10-5-6 [ 10-10-5-6| ==, [10-10-6-2-1'|10-10-5-2-1'}10-10-5-2-1"
=R No.1~No.5| No.5~No.4| No.4~No.3 | No.3~No.2| No.2~No.1 " No.1~No.3| No.3~No.2| No.2~No.1
&I
HERET (RG]
TATT IR
SRR U 20cmBl T m
29— MEZE R
" 20cmBL T m
TATT SRR
AR TR ER m2 1,509)
V9 —MEZE R
" R ER m2
TRIT VAR
OBk R ER m3 60
V9%
" R ER m3
HEBIRI(REIH]
MEREBIIRER]
REET BERA t=1icm m2 405 49 10.2 72 2.1 13.3 16.6 69 44 348 29.8
EJ=h
TAIZIVMNGRET BEERETAIV(13) t=3cm m2 405 49 102 7.2 2.1 133 16.6 69 44 348 29.8
MEREIEI[ETEER] E ) - E )
BEET BEREA t=11cm m2 42 13 135 0
RETL
TAIZIVMNGRET BEERETAIV(13) t=3cm m2 42) 13 135 0
SHEBIRT[AEIE-HE]
TREEIE m2 1509
TRERE
BRiET RC-30 t=10cm m2
=3
" RM-30 t=10cm m2
HE
TRIFVMEET ﬁ%*ﬁ*ﬁlﬁ?x:y(zo) t=5cm m2
" ﬁé%’é*ﬁlﬁ?x:y(m) t=5em | m2
" ﬁi%’é*ﬁ&?x:y(m) t=4cm m2 1509
HEEIBI[XREIE-S5E]
THEEIE m2
TIERE
iz T RC-30 t=10cm m2
=[E
TAITWMEET BEFRETAIVA3) t=4cm m2




L HEd

B = (BH/BREE)
T7E | &Rl a8 R & Bfr| gy [10710-5-3-1110-10-5-3-1{10-10-5-3-1110-10-5-3-1] | s [10-10-5-4-1110-10-5-4-1]10-10-5-4-110-10-5-4-1
" |No.1~No.4| No.4~No.3| No.3~No.2| No.2~No.1 U [4-1~4-1-4[4-1-2~4-1-3|4-1-3~4-1-2| 4-1-2~4-1-1
HLT
HERET (RG]
TATT IV RR
SRR U 20cmBL T m
29— MEZE R
" 20cmBL T m
TATT SRR
AR R ER m2
V)Y —MEZE R
" R ER m2
TRIT VAR
FRIE AL TR R ER m3
V)%
" R ER m3
HEBIRI(REIH]
HMEREIRIIRES]
REET BERA t=1icm m2 110 6.3 44.1 44.1 15.7 86 345 126 152 238
EJ=h
TAIZIVMNGRET BEERETAIV(3) t=3cm m2 110 6.3 44.1 441 15.7 86 345 12.6 152 238
0 0 0 0
A RE IR TE{TESER) - -
REET BERA t=1icm m2 18 17.57 11 10.78
RETL
TAIZIVMNGRET BEERETAIV(13) t=3cm m2 18 17.57 11 10.79
SHEBIRT[AEIE-HE]
TEEIE m2
T B
BRiET RC-30 t=10cm m2
=3
" RM-30 t=10cm m2
HE
TRIFVMEET ﬁ%*ﬁ*ﬁlﬁ?x:y(zo) t=5¢m m2
" ﬁé%’é*ﬁlﬁ?x:ms) t=5em | m2
" BETHETAIAI) t=4m | m2
HEBIRTI[AEIE-$E]
THEEIE m2
TIERE
BRAET RC-30 t=10cm m2
=[E
TAITWMEET BEFRETAIVA3) t=4cm m2




HMEE

FEIT  SETFR1

B = (BH/BREE)
TH | HR # B R & B, s 10-9-6 | 10-9-6
B No.1~No.2 [ No.2~No.1
HLT
SHEBETI[(RRGHEL]
TA77 MR EERR
Rl 20cmBl T m
19— MRZERR
" 20cmPl T m
TAI7 MR EERR
AR R ER m2
V9 - MRZERR
" HRER m2
TAT7 IR
OBk R ER m3
V9%
" HRER m3
SHERIEBT(RER]
SHERERI[XREL]
BART BERA t=1icm m2 91 525 38.3
=ET
TAI7IMEHEET BAZERAETAIVA3) t=3cm m2 91 525 38.3
SRS IR T (B EE) -
AT BARA t=1icm m2 0
=ET
TAIZLMRET BAFRETAIV(13) t=3cm m2 0
SHEBIRT[AEIE-HE]
TEEIE m2
TRERE
BEET RC-30 t=10cm m2
B
" RM-30 t=10cm m2
EE
TAIZLMRET ﬁ%*ﬁ*ﬁlﬁ?x:y(zo) t=5cm m2
" BAEBMETAI(3) t=5m | m2
=[E
" BEZFRETAIVA3) t=4cm m2
SHEBIETI[XEIE-$5E]
TEEIE m2
TREREE
BEET RC-30 t=10cm m2
=[E
FRIFMEEZET BEZHIETAIV(13) t=4cm m2




